BONTEC

MODLE: ST07

Love This Product?

Spread the word and leave us a review on dINIAZON
N—r"7"

e - - - - -"—-""--""-"""—-"" ="' - - - - - - — — — — N
I usING NoTICE I
| (1)This stand suitable for in-house use. |
| (2)Please move this stand gently with two person.

I
| SAFETY WARNING |
| (1) Don't climb or sit on the stand.

(2) Don't place very hot or very cold things on the glass surface. l
| (3) Don't touch the glass surface with hard and acuate object. Do not use electric screwdriver |
| (4) Don't use causticity or powder contained cleanser to clean the glass surface. forassembling this product.

)

() D
|
| === Plastic Cover M6x30 Soft Pad
Q(x1) R(x3) S (x1)
Monitor Bracket Support Pillar - '
1(x1) 2(x1) < —J ) IR
Rubber foot 5mm Allen key M8x35
T (x4) U(x1) V (x1)
BONTRE,
Tempered Glass Cable Ties (]]- Om OW @
3(X1 ) 4(X2) M4x12 M6x15 M8x20 D5/D8 5mm spacer
W(x4) X1(x4) X2(x4) X3(x4) X4(x4)

STEP 1 Add Rubber Foot to Tempered Glass

3

Temperedx;yﬂrx X 1
Glass
T @ Rubber foot X 4

L3158 Connect the Support Pillar to Tempered Glass

3 ——— .

Tmpored N | X1
R QmmD | x3
sapport pma X 1
S X1
sfn Pad ‘ X 1
5rrl1Jm Allen key Eﬂ X 1

»1



M8x20

CLIS Measure VESA  and Check TV screws SANSICE M Hang TV to Support Pillar

Measure the distance between the holes v ))WWWW M8x35 x 1 p

located at the back of your TV (these measures
may form the shape of a square, or a rectan-
gle) and check that these taken measures are
within the VESA(*) range for this wall mount.
(*) VESA: International standard established by
the TV manufacturers used to determine if LCD
/ LED TVs are compatible with wall mounts.

—m

75mm =~ 27/8in 100 mm = 4in

200 mm =~ 77/8in 300 mm = 11 3/4in
400 mm = 15 3/4in

G

s

Pugipinletpepepepnpnpnpnpe iy iplipl

Check TV screws

Hand thread screws into the threaded
inserts on the back of your TV to
determine which screw diameter (M4,
M6, or M8) to use.

(1= XM Attach the Monitor Bracket to a TV

-> Monitor
1 Bracket x 1

W (. maxa2 X 4

L s

X1 @m M6x15 X 4

X2 Qm M8x20 X 4
X3@ D5/D8 X 4

X4 @' 5mm X 4

spacer

(if necessary)

First, make sure the diameter of the bolt (w/x1/x2) fits your TV. Then, please see the diagram above. You will need to thread the
boltinto the TV using the correct washer (X3) and spacer(x4)if necessary. Please make sure the monitor bracket is
vertically centered.

»2



